) BARRACUDA

ASSEMBLING INSTRUCTION LEGEND
1. MIRRORS BRACKET 4. CONICAL SPACER TUBE
STAFFA SPECCHI DISTANZIALE CONICO
MlRRO RS BRAC KET SOPORTE ESPEJOS ESPACIADOR CONICO
SPIEGELHALTERUNG KONISCHER ABSTANDSHALTER
SUPPORT DE MIROIRS ENTRETOISE CONIQUE
YT'ADATT23 2. SCREW M8X20 5. SPACER TUBE
VITE M8X20 DISTANZIALE
TORNILLO M8X20 DISTANCIADOR
SCHRAUBE M8X20 DISTANZROHR
WWW._BARRACUDAMOTO.COM VIS M8X20 ESPACEUR
3. WASHERS 6. ALLEN SCREW M6X35
RONDELLA VITE A BRUGOLA M6X35
ARANDELAS TORNILLO ALLEN M6X35
SCHEIBE INBUSSCHRAUBE M6X356
RONDELLE VIS ALLEN M6X356

REMOVE THE ORIGINAL ALLEN SCREW
FROM MIRROR STEM

JAN

COMPATIBLE JUST WITH BARRACUDA
B-LUX MIRRORS WITH NAKED STEM

LEFT RIGHT

® ©
|

wa\wm / L|
| u

QWWW\W




